
Respostas 

 

Lista 2 

05)  a) I=2,5kgm2, b) α=-16п/7 rad/s2,  c) 700rev  d) torque=-40п/7 kgm2/s2,  e) W≈8.104Nm. 

06)  I=(M/3)*(a2+b2) 

07)  a) m2=72kg,  b) α=-1,4(rad/s2)  T1=300N  T2=760N 

08)  a) wf=√
3𝑔

𝐿
   b)  vcm=

1

2
√3𝑔𝐿 

09)  a) T=562,5N  b) α=-1,8(rad/s2)  c)  wf=-2,2(rad/s) 

10)  a) I=(M.l2)/3,  b) w=(3P0)/(Ml)  c) t=(пMl)/(6P0) 

 

Lista 3 

 

01)  a) 14ml2 , b) 14ml2+9Ml2 

02)  a) w=п/3 (rad/s) ,  b)  Ei=16п2 , Ef=13п2 

03)  a) v=2,02 (m/s) , b)  w= 11(rad/s) , c)  ΔE=201 J 

04)  a) w=4,5 (rad/s) , b)  ΔE= -0,36 J  (perda) 

05)  a) w=14,3 (rad/s) , b)  Ei=40 J, Ef=181 J , c)  ΔE=141 J 

06)  a) w=20п(rad/s) , b)  Ei/Ef=3. 

07)  a) VCM=v0/3 , b) w= v0/(2l) , c) Ei=m v0
2/2, Ef= m v0

2/4 

08)  a) τ=0, b) Tf=T0/2,  c)  Ef=2Ei. 

09)  a) τ=0,02 Nm  b)  Erot= 1,2 J 

10)  a) a= 10/3  (m/s2)  b)  Fatr= 50/3N,  v=2(m/s). 

 


